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Henry Bird (White v Pinkerly 1850) brings off a spectacular finish (3 moves):
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Sixteen of the world’s leading players have recently been engaged in 6-game World Championship knock-out matches with matches tied 3-3 going to 4 game rapid–play (25min + 10 sec) and, if necessary, 2 blitz games (5 min +10 sec).  The only female, Judit Polgar (Hungary), was defeated 2.5-3.5 by Evgeny Bareev (Russia) while 16 year old Magnus Carlsen (Norway) went down to Levon Aronian (Armenia) 3-3, 2-2, 0-2.  Among the eight qualifying for the next stage are Peter Leko (Hungary) and  Alexei Shirov (Spain) who beat Michael Adams (England) 3-3, 2.5-0.5 after being down 2-3. After a further knock-out series four players will join world champion Vladimir Kramnik, Peter Svidler, Alexander Morozevich (all Russia) and Vishy Anand (India) in a All-Play-All for the world title. 
Here is a superbly played rook ending from the exciting Aronian-Carlsen match:
MAGNUS  CARLSEN  -  LEVON  ARONIAN

2007 World Championship Qualifier (Game 3)

English Opening

1.Nf3         Nf6 
2.c4          b6

3.g3           c5 

4.Bg2       Bb7

5.0-0          e6 

6.Nc3       Be7

7.Re1         d5 

8.cxd       Nxd5

9.d4            Nxc3 
10.bxc3    Be4

11.Ne5!(a) Bxg2 
12.Kxg2   0-0

13.e4          Qc8 
14.Qg4     Bf6

15.Nf3        Kh8 
16.h4        Nc6

17.Bg5!      cxd(b) 
18.Bxf6    gxf6

19.cxd        e5(c) 
20.Qxc8   Raxc8

21.d5          Na5 
22.h5!      Nc4

23.Nh4       Nd6 
24.h6       Rc3

25.Rac1     Rfc8(d) 
26.Rxc3   Rxc3

27.Nf5!      Nxf5 
28.exf5    Kg8

29.Re4!      Kf8 
30.Rg4     Rc7

31.Rg7       b5 

32.Rxh7   Kg8

33.Rg7+     Kh8 
34.d6        Rd7

35.Kf3        b4 
36.Ke4     Rxd6(e)
37.Rxf7      Ra6
38.g4!       Kg8

39.h7+        Kh8 
40.g5        fxg 

41.f6           resigns(f)
a) Foiling Black’s attempts to prevent e4.

b) Not 17…Bxg5 18.hxg5 with an attack along the h file with Rh1.

c) Black succeeds in blunting White’s attack by the queen exchange but White’s protected passed d pawn gives him a clear advantage.

d) If 25…Nxe5 26.Rxc3 Nxc3 27.d6 and Black is hard pressed to cope with the passed pawn together with back row mating threats via the c or e files (f4!).
e) If 36…a5 37 Kd5 a4 38.Kc6 wins.

f) White’s king will advance to g6 ensuring a pawn promotion and mate. 
SOLUTION: 1.Qg7+!! Nxg7 2.Nh6+ Kh8 3.fxg7#.

